Mazenod College



YEAR EIGHT 2026

2026
26 532 08 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Monday 15th December 2025 Using "P3VJ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$8.00, if placed on or before the return date of Monday 15th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

BOARDERS: Please tick the boarder box online and enter the School Address.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Please tick the items required in the box provided

Ø

Item Unit Item Qty Total Office Use Description No. Reqd Reqd Price \$ Amount \$ YEAR EIGHT YEAR 8 EBOOKS & RESOURCES Electronic books and school-purchased resources to be purchased by Mazenod and will be invoiced on Term 1 school fees for \$195.00 **ALL STUDENTS REQUIRE** P55522 0.70 0.70 Eraser Plastic Pencil Economy in sleeve 1 1 P51353 2 2.95 2.95 Glue Stick 40gm Artline Purple P50186 3 Highlighter Marker - Yellow 1.60 1.60 P56095 4 Pen Ballpoint Cap Type Blue Medium 0.35 0.35 P56096 Pen Ballpoint Cap Type Red Medium 5 1 0.35 0.35 P52001 Pencil (2B) Goldfaber 6 0.70 0.70 P58550 Pencils-Coloured 12's Water Soluble Micador 7 7.50 7.50 1 P56213 Pencil Case 340x170mm Name Large 8 1 3.75 3.75 P56414 Ruler 300mm Plastic Clear Marbig 9 1 0.75 0.75 P50465 Scissors 216mm Orange/Red Handle 10 3.15 3.15 COMMERCE: ENTREPRENEURSHIP & PERSON FINANCE P50451 Exercise Book A4 96 Page 8mm with Margin #108 Spirax 11 1 1.80 1.80 **COMMERCE: INVESTMENT & INVENTIONS** P50451 Exercise Book A4 96 Page 8mm with Margin #108 Spirax 12 1.80 1.80 1 **DESIGN** P50271 13 0.70 0.70 Pencil (HB) Goldfaber 1 P52092 Pencil (2H) Goldfaber 14 0.80 0.80 **DIGITAL TECHNOLOGIES (ALL)** Subjects include: Digital Technologies, Programming with Minecraft Headphones - Retain from previous year **DRAMA: 3, 2, 1 ACTION!** No Text Required DRAMA: LET'S GET PHYSICAL All Drama students to supply their own stage "blacks". This includes a black t-shirt and black track suit pants. P58550 Pencils-Coloured 12's Water Soluble Micador 15 7.50 7.50 **ELECTRONIC ENGINEERING** No Text Required P54587 Safety Glasses - Spectacle Style Anti Fog 16 1 8.95 8.95 (There will be a class set of safety classes available but your son may wish to purchase their own) **ENGLISH** P05722 Bamboo People [Mitali Perkins] 17 16.99 16.99 1 P35404 Insight Junior English Skills 8 [Lisa Neale] 18 1 27.95 27.95 P55442 Display Book A4 20 Pocket Black Refillable 19 1 2 30 2.30 P50451 Exercise Book A4 96 Page 8mm with Margin #108 Spirax 20 3 1.80 5.40 **ENGLISH EXTENSION** P05722 Bamboo People [Mitali Perkins] 21 16.99 16.99 1 P35404 Insight Junior English Skills 8 [Lisa Neale] 22 1 27.95 27.95 P55469 23 Display Book A4 20 Pocket Blue Non-Refillable 1 4.95 4.95 P54149 3 Exercise Book 225x175mm 96 Page 8mm #108 Spirax 24 1.35 4.05

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HEALTH & PHYSICAL EDUCATION					
P52090	Binder Book A4 64 Page 8mm Premium with Margin #120 Spirax	25		1	1.35	1.35
	HUMANITIES & SOCIAL SCIENCES					
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	26		2	1.80	3.60
	ITALIAN					
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	27		1	1.25	1.25
	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	28		1	41.95	41.95
P55442	Display Book A4 20 Pocket Black Refillable	29		1	2.30	2.30
P51941	Graph Book A4 96 page 10mm Grid Squares #138 Spirax	30		4	2.35	9.40
P55669	Graph Pad A4 25 Leaf 1mm 7 Hole Punched #801 Spirax	31		1	3.35	3.35
P56353	Protractor 10 cm 180 4" Half Circle	32		1	0.45	0.45
	MEDIA: AD-VENTURE ZONE					
	No Text Required					
	All students require headphones for this unit.					
	MEDIA: MOTION PICTURE					
	No Text Required					
	All students require headphones for this unit.					
	METALWORK					
	No Text Required					
P54587	Safety Glasses - Spectacle Style Anti Fog	33		1	8.95	8.95
	(There will be a class set of safety classes available but your son may wish t	o purcha	se their own)			
	MUSIC: MUSIC & THE MACHINE					
P55522	All students require headphones for this unit. Eraser Plastic Pencil Economy in sleeve	34		1	0.70	0.70
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	35		1	2.35	2.35
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	36		1	2.35	2.35
P56166	Pencil (HB) Copperplate	37		1	0.55	0.55
	RELIGIOUS EDUCATION					
P15489	NRSV Catholic Youth Bible International Edition H/B 4E [St Mary's Press]	38		1	79.95	79.95
	(Reuse Bible purchased in Year 7 if possible. Please make sure that the Bible		correct version)			
P55494	Document Wallet FC Slimpick Green	39		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	40	_	2	2.25	4.50
P51157	Highlighters Pkt 4 Micador ECO	41		1	3.85	3.85
P52202	Whiteboard Flexi A4 2 Sided Blank Board + Pen + Eraser	42		1	11.95	11.95
	(Purchased in Y7. Please retain whiteboard and eraser for future years. Plea	ise buy a	replacement wh	iteboard	marker if ı	required)
	RIOT					
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	43		1	1.80	1.80
	SCIENCE					
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	44		2	1.80	3.60
			<u>—</u>			
P50451	SCIENCE: EXPLORE PROGRAM Exercise Book A4 96 Page 8mm with Margin #108 Spirax	45		1	1.80	1.80
	. = =		_	•		

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	CDECIALIST DAND DDOCDAM					
	SPECIALIST BAND PROGRAM					
P55442	All students require headphones for this unit. Display Book A4 20 Pocket Black Refillable	46		2	2.30	4.60
P55522	Eraser Plastic Pencil Economy in sleeve	47		1	0.70	0.70
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	48		1	2.35	2.35
P56166	Pencil (HB) Copperplate	49		1	0.55	0.55
	VISUAL ART 2D: DRAWING, DIGITAL ART & PAINTING					
P51872	Brush Set Taklon Round pkt 6	50		1	17.95	17.95
P55467	Document Wallet A3 PP Envelope With Stud	51		1	3.70	3.70
P50319	Eraser Staedtler Rasoplast 526B30	52		1	1.50	1.50
P56081	Marker Artline #200 Black 0.4mm	53		1	3.95	3.95
P56115	Marker Artline #210 Black 0.6mm	54		1	3.95	3.95
P56276	Pencils-Graphite Set 6 Sketch with sharp/eraser 2H-6B	55		1	13.10	13.10
	VISUAL ART 3D: CLAY, MIXED MEDIA & SCULPTURE					
P51872	Brush Set Taklon Round pkt 6	56		1	17.95	17.95
P55467	Document Wallet A3 PP Envelope With Stud	57		1	3.70	3.70
P50319	Eraser Staedtler Rasoplast 526B30	58		1	1.50	1.50
P56081	Marker Artline #200 Black 0.4mm	59		1	3.95	3.95
P56115	Marker Artline #210 Black 0.6mm	60		1	3.95	3.95
P56276	Pencils-Graphite Set 6 Sketch with sharp/eraser 2H-6B	61		1	13.10	13.10
	WOODWORK					
	No Text Required					
P50271	Pencil (HB) Goldfaber	62		1	0.70	0.70
P54587	Safety Glasses - Spectacle Style Anti Fog	63		1	8.95	8.95
	(There will be a class set of safety classes available but your son may w	ish to purcha	se their own)			
	Number of Boxes ticked:					
	Postage (Home delivery o	nly)	\$8.00	_		
	ESTIMATED AMOUNT DI (PRICES CORRECT AT 19/11		\$	_		